國立嘉義大學九十八學年度
生物醫藥科學研究所碩士班(甲組)招生考試試題

科目：有機化學
一、Select the best answer for the following questions. (5 % each，30 % in total)

1. What is the major product of the following Dieckmann condensation?
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2. Which would be the structure of the product for the Reformatsky reaction?
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3. What is the major organic product from the following reaction?
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4. What is the major product of this reaction?
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5. What is the major product of this reaction?
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6. Rank the following compounds in increasing order of their boiling point.

I. neopentane   II. n-hexane    III. 1-pentanol     IV. 2,3-dimethylbutane 

(A) I < II < III < IV  (B) IV < III < II < I  (C) I < IV < II < III  (D) I < III < II < IV.

二、An unknown compound decolorizes bromine in carbon tetrachloride, and it has the following reaction. Propose a structure and explain the reaction mechanism for the unknown compound. (15 %)
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三、Define and give an example of each of the following terms. (5 % each， 20 % in total)
1. Newman projection,  2. free radical,  3. deshielded,  4. antiaromatic compound.
四、Please provide the structure for A - D. (5 % each，20 % in total)
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五、Determine the structure of a compound with formula C7H9N. The proton NMR spectrum is shown, along with expansions of the region from 7.10 to 6.60 ppm. The three-peak pattern for the two protons at about 7 ppm involves overlapping peaks. The broad peak at 3.5 ppm shifts when DCl is added while the other peaks stay in same positions. The infrared spectrum shows a pair of peaks near 3400 cm–1 and an out-of-plane bending band at 751 cm–1. (15 %)
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背面尚有試題
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